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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases, marked (1), (2), (3), and {4). Choose the one word or phrase that best completes
the sentence. Then mark your answer sheet.

The man thought that it was absolutely important for evervone in the hotel — the lobhy as
quickly as possible.

1} leave 2) to leave 3) who leave 4) 1s leaving

Some of the stories -—-—-— in this collection are just summaries of some famous stories.

1) include 2) including 3) included 4) are including

The customer was so pleased with the new car — he bought it immediately.

1) as 2) that 3) when 4) which

Now that [ look back on the past I believe 1 -—- without thinking carefully.

1) might not be acting 2) must not be acting

3) must not have acted 4} should not have acted

I did not learn much because | was -———-—--—- hy the noise the kids in the room were making.

1) distracted 2) involved 3) separated 4) communicated

The earthquake has destroved many homes in the area; the government should —-—--— do something to
help the people.

1) heavily 2) recently 3) definitely 4) extremely

—--- that he would win the

When the candidate received ninety percent of the vote, the earlier
election easily turned out to be true.
1) expectation 2) expression 3) presentation 4) comparison

the way they had behaved towards their vounger brother, the boys decided to be as Kind to him
as they could from that time on.

1) Interested in 2) Confused by 3) Surprised by 4) Ashamed of

Because he did not have enough confidence, she never mmemeee A0y €¥E contact at any time during the

interview.

1) did 2) got 3) made 4) took

They were looking for a software package that was ———-—-——- enough for a range of abilities.
1) repetitive 2) flexible 3) global 4) similar

Analog computers are general-purpose
mathematical operations.

—-— which employ laws of physics for performing

1) devices 2) layers 3) vessels 4) mechanisms
Sound engineers ufilize a number of techniques to ~---—-—-- the quality of the recordings.
1) enhance 2) provide 3) generalize 4) emphasize

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Another reason for the low education rates in Africa is the lack of proper well-equipped schools
and unequal (88) -------—-—-——— for education across countries. Many schools across Africa find it
hard to employ teachers simply (89) ----—----—-- there are not enough efficient people around. This
is particularly true for schools in remote areas. Most people who manage to receive education
would prefer to move to big cities or even foreign countries (90) --------—---- more opportunities
and higher pay for them. Thus, there are many students in each class. Moreover, the teachers do
not usually have the necessary (91) —-------——- . Due to this, children (92) ————--- — schools in
villages usually get poorer results in standardized tests compared to those who live in cities.
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1) pressure 2) occasion 3) function 4) opportunity
1) so that 2) while 3) because 4) even though
1) have 2) which have 3) they have 4) to be having
1) amounts 2) profits 3) senses 4) skills

1) attend 2) attending 3) for attending 4) are attending

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

Passage I:

It was the first day of school and Josh knew it wasn’t going to be a good one. It was only 8:10
and he was already running late and had already gotten into a row with his mother, As he ran
very fast to catch the bus, he felt bad about leaving his mom still angry. After all, she was
right—he should have gotten up when the alarm clock went off. The driver waited just a
moment before shutting the bus doors.

Josh froze in his tracks as he watched the bus go away. Now he would have to go back home
and not only face his mom, but also ask her for a ride to school. Josh closed his eyes for a
moment, then opened them wide. (His mom said this makes him calm. He hoped she was doing
it, too.) Then he shoved his hands into his pockets and walked back home.

Mom didn’t even look shocked to see him when he came back in the door. It was more of a
glare. Josh knew what that meant—I told you so. Rather than argue with his mom, he just
apologized and sweetly asked for a ride to school. Mom's face softened and she went to get her
keys.

Josh knew that his first day of school was not going to be a good one because
1) his mother did not like him

2) he did not enjoy going to school

3) he had not gotten up early enough for school

4) his mother would not agree to take him to school in her car
According to the passage, the bus driver
1) did not stop to pick Josh up

2) saw Josh but did not let him in

3) thought that Josh did not plan to go to school

4) did not wait long enough for Josh to catch the bus

Why did Josh close his eyes after the bus left him alone?
1) To bring himself comfort

2) To find out what to do next

3) To make his mom feel calm

4) To imagine what would happen at home
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Which of the following best describes his mother's first reaction when she saw him come back home?

1) Shocked 2) Angry 3) Anxious 4) Friendly

Passage 2:

Television has become so widespread that many British children now combine it with other
activities, including social networking online, looking from their laptop to the TV screen and
back again. Even if they are concentrating on the television, young people are now unwilling to
watch just one program, with boys in particular often switching between channels to keep up
with two programs at the same time. The survey, conducted by the market research agency
Childwise, will increase worries that childhood is increasingly about private space and sedentary
activities and less about play, social interaction or the child’s own imagination.

The government’s recent Children’s Plan focused on improving play facilities as a means of
ensuring a more balanced life for young people who spend a lot of time watching television.
Today’s survey findings show that after decreasing for three years, television-watching among
children is now increasing again. This is mainly the result of more girls watching television
series.

Internet use is also continuing to increase rapidly. This means British children spend an
average of five hours and 20 minutes in front of a screen a day, up from four hours and 40
minutes five years ago. Reading books for pleasure, on the other hand, continues to decrease as a
regular pastime. While four out of five children read books in their own free time, only a quarter
do so daily and 53% at least once a week.

What does the passage mainly discuss?

1) The development of bad habits among children

2) The findings of new research methods in Britain

3) Why the Internet is taking the place of television

4) The negative effect of television watching on children

According to the passage, which of the following has experienced a decreasing trend among children?

1) TV watching 2) Social interaction

3) Private space 4) Research-related activities

Which of the following statements is FALSE, according to the passage?

1) Television watching has been on the decrease in the past ten years.

2) Doing several things at the same time is not a rare phenomenon among children these days.

3) It is stated by some that children on average spend five hours and 20 minutes in front of a
computer screen daily.

4) Some people believe that if children spend a lot of time watching television, they do not have
a life balanced enough.

Which one of the following best describes the function of paragraph 3 in relation to paragraphs 1 and 27

1) It denies the seriousness of the problem described in those paragraphs.

2) It modifies the claim of those paragraphs through facts and figures.

3) It provides an exception to the rule mentioned in those paragraphs.

4) It further supports the points made in those paragraphs.





